
RA30 Cabinet Gang Anchoring Ancrage mitoyen des cabinets RA30
If required
Si requis

If required
Si requis

CC

Front view
Vue de face
Front view

Vue de face

Align cabinets at the same height and finish 
tightening bolts.
Placer à égalité et terminer de serrer les boulons.

A
Do not tighten completly.
Ne pas serrer complètement.

x8

CB

Assembly GuideR Line Guide d’assemblage Ligne R
Cabinets avec roulettesCabinets with Casters

R2K-DE14BPage 1/4

7D00202K

rousseaumetal.com
1-800-463-4271

Read instructions carefully.  
All required hardware is included.
Please check the contents with your packing slip.  
Two people are required for the assembly.
Save this document for future reference.     

Lisez attentivement les instructions.
Toute la quincaillerie requise est incluse.
Veuillez vérifier le contenu avec votre feuille de livraison. 
Deux personnes sont requises pour l'assemblage.
Conservez ces instructions pour référence future.

RB81/84/85 RB86 RB81/84/85

RB90
RC35/36/37

WS08/14/16/17
RB92

RC35/36/37
WS08/14/16/17

Mobile Cabinet
Lateral Movement

.

Cabinet mobile
Déplacement latéral

Mobile Cabinet
Front-back Movement

.

Cabinet mobile
déplacement avant-arrière

Double Mobile Cabinet
.

Cabinet mobile double

Mobile Workstation 
with Cabinet

.

Poste de travail mobile 
avec cabinet

A B DC

Removes all drawer from cabinets Retirer tous les tiroirs du(des) cabinet(s)

Replacer les tiroirs à la fin seulement lorsque les 
accessoires seront tous installés.

Put drawers back in place only when all 
accessories have been installed.

Outils RequisTools Required

1/2"
9/16"

7/16"

  
 Ø 3/16"
Ø 7/32''
Ø 5/16"

#3

7/16"
1/2"

9/16"
Punch

Poinçon

Boulons 5/16-18
5/16-18 Bolts

 ¾"

3L120202

8x
5/16-18 Nylon locknuts
Écrous nylon 5/16-18 

3S2003Z2

8x

Washer
Rondelle
3Z022002

8x



RB86 Joint Plates (double cabinet) Plaque de joint RB86 (cabinet double)
If required
Si requis

If required
Si requis

RB81/84/85 Casters for mobile cabinet Roulettes RB81/84/85 pour cabinet mobile

Page 2/4rousseaumetal.com
1-800-463-4271

IMPORTANT :
Nuts are riveted under the cabinet 
for joint plates assembly.
Des écrous sont rivetés sous le 
cabinet pour l'assemblage des 
plaques de joint.

Per caster / Par roulette

4x

3/8-16 nylon locknuts
Écrous nylon 3/8-16

3S2203Z2

4x

3/8-16 bolts
Boulons 3/8-16

 7/8"

3L122222

Boulons 5/16-18
5/16-18 Bolts

 ¾"

3L120202

8x

RB90 Handle & RB8X 
Swivel Casters should be 

installed on the same 
side.

La poignée RB90 & les 
roulettes pivotantes RB8X 
devraient être placées sur 

du même côté.

Lateral Movement
Front View

Déplacement latéral
Vue de face

RB92 Handles & RB8X 
Swivel Casters should be 
installed at the front of the 

cabinet

Les poignées RB92 & les 
roulettes pivotantes RB8X 
devraient être placées à 

l'avant du cabinet

Front-back Movement
Déplacement avant-arrière

Front View
Vue de face

Side view
Vue de côté

F
ro

n
t 
/ 
A

va
n
t



Page 3/4 rousseaumetal.com
1-800-463-4271

RB92 Front Handles Poignées de déplacement avant RB92
If required
Si requis

If required
Si requis

X'' =
24'' - 48'' cabinet = 5''

54'' - 60'' cabinet = 13 3/8''

X'' 4 5/8'' X''4 5/8''

RB90 Side Handles Poignée de déplacement de côté RB90
If required
Si requis

If required
Si requis

RC35/36/37 or WS08/14/16/17 Tops Dessus RC35/36/37 ou WS08/14/16/17
If required
Si requis

If required
Si requis

Top view / Vue de dessus

Top view / Vue de dessus

A

 Ø 5/16"

A

CC

A

B

B

11/4"

All other tops.
Tous les autres dessus.

Laminated wood top                 
Dessus en bois lamellé Ø 7/32"

Ø 3/16" 

CC

CD

B

Mark hole position / pencil or center punch
Marquer la position des trous / crayon ou poinçon à centrer

5/16-18 Nylon locknuts
Écrous nylon 5/16-18 

3S2003Z2

2x

Washer
Rondelle
3Z012002

2x

1/4-20 nuts
Écrous 1/4-20

3S1801Z2

1/4-20 bolts
Boulons 1/4-20

 3/4"

3A1820L2

4x 4x

3D5326T2

 1 1/4''

Tapping screw
Vis taraudeuse

4x

3D5326T2

 1 1/4''

Tapping screw
Vis taraudeuse

C

Center holes in height.
Trous centré en hauteur.



Workstation with Cabinet Poste de travail avec cabinet

Page 4/4rousseaumetal.com
1-800-463-4271

If required
Si requis

If required
Si requis

4X

WS08/14/16/17
RC35/36/37

Tops with wood core
Dessus avec bois

Workstation / Top view
Poste de travail / Vue de dessus

All Tops 
or for wood cross bar if 
installed with WS10/12 
steel top (see bellow)

Tous les dessus 
ou traverse de bois si avec 
dessus en acier WS10/12
(voir si-dessous)

 1 1/4''

4x  1 1/4''

2x
 1 1/4''

2x

Assembly of legs and other options, refer to 
assembly guide W10.

Pour  l'assemblage  des  pattes  et  autres  options, 
se  référer  au  guide  W10.

Cabinet

2X
 ¾"

WS10/12 
Steel Top

Dessus en acier

A

B
11/4"All other tops or for wood cross bar if installed with steel top

Tous les autres dessus ou traverse de bois si avec dessus en acier WS10/12

Laminated wood top                 
Dessus en bois lamellé Ø 7/32"

Ø 3/16" 

C C

WS10/12 Tops / Dessus
Wood cross bar / Traverse en bois

WS10/12 Tops / Dessus
Steel cross bar / Traverse en acier

Cabinet

Workstation / Front view
Poste de travail / Vue de face

 1 1/4''

2x
 1 1/4''

2x

All Tops or for wood cross 
bar if installed with 
WS10/12 steel top 
(see bellow)

Tous les dessus 
ou traverse de bois si avec 
dessus en acier WS10/12
(voir si-dessous)

WS08/14/16/17
RC35/36/37

Tops with wood core
Dessus avec bois

 1 1/4''

4x 2X
 ¾"

WS10/12 
Steel Top

Dessus en acier

OR/OUC C

Cabinet with casters Cabinet avec roulettes

Max 30'' wide cabinet
Cabinet de 30''L max

Offset casters towards opposite side of bench leg for increased stability.
Décaler les roulettes du côté opposé à la patte pour augmenter la stabilité.

L
e

g
 /

 P
a

tt
e

L
e

g
 /

 P
a

tt
e

Per caster / Par roulette

4x

3/8-16 nylon locknuts
Écrous nylon 3/8-16

3S2203Z2

4x

3/8-16 bolts
Boulons 3/8-16

 7/8"

3L122222

3D5326T2

 1 1/4''

Tapping screw
Vis taraudeuseBoulons 5/16-18

5/16-18 Bolts

 ¾"

3L120202

WS08/14/16/17
RC35/36/37

WS08/14/16/17
RC35/36/37


